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1)         75 ÷ 3 =          2)       96 ÷ 4 =           3)      85 ÷ 5 = 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Word problem challenge: 
  

7) There are 39 children in a class and they need to get into 
groups of 3 during their tennis lesson. How many groups will there 

be? 
 

8) At London Zoo, there is a delivery of 75 bananas. They are 
shared between 5 monkeys. How many bananas do they get each? 

 
9) There are 60 wheels in a car park. Each vehicle has 4 wheels. 

How many cars were in the car park? 
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